Geometry 1-2
Assignment

Name

Simplify each expression. Leave your answers in simplest radical form.

1) 10~/800
2002

3) 8/63
24+/7

5) 3+/42
342

7y 2+/448
1677

9) \15(3v/3 +2)
o~/5 + 215

11) 3(~/3 +3)
34343

13) \/§(4+ \/g)

4N3 +3

15) —/3(3+/5 + /3)

34/15 -3
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2) 24/70
2470
4) 10~/384
80/6
6) 24216
12+/6
8) 2+/210
24210
10) 5/2(V/2 +2)
10+10\/5
12) —5~/3(5+5+/3)
~25+/3 =75
14) \10(3 + /2
3410 +2+/5
16) —~/3(5 + /6)
543 -32
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25 =5 5-4/5 %) 4-273 2-4/3
V4 2 NI
a7y 55 5-/5 28)2—\5 25
\Jo 3 V4 2
2+\/_ 23 +4/15 3)3+2\/_3 13 +2/65
2\/7 12 5413 65
a 4132 32 4 232 217 /34
\2 w17 34
22 +3
33) V3 +1/3 34) 20 + \/45
23 54/
35) \/E+\/g+\/g 36) \/§+\/E+\/E
345 +2/6 43+ /6
37) \/Z+\/%+\/E+\/g 38) \/g+\/ﬁ+\/g+\/§
3\@+2\E+ﬁ \/§+6\/5+\/g
39) 2+/6 — 3+/18 — 2+/54 40) 327 + 327 = 2+/24
—4~J6 —92 183 —4/6
41) 242 +2+/8 +34/8 42) 6 — 24 —2~/24
12+/2 ~76
43) 18 +3+/5 —2+/45 48) 272 +3v2 - 243
32 -34/5 542 -2+/3
Solve each proportion. Round your answers to the nearest hundredth, if necessary.
n—2:n+6 46)%:61_1
8 6 a->5
(4.66) -1}
47)x+7:x+10 48)% V-3
7 3 7 v+7
(-12.25) {14}

Solve each equation.

49) 8(k—3)—4=3(k+5)+2

19

50) —2(7x +7) = —8(x — 5)

-9}





